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BHARATH COACHING CENTRE 

   9th CBSE               Mathematics                                      Total: 50 

  Lines and Angles         Time: 1.30Hrs 

SECTION – A                  5 × 1 = 5 

1. The sum of the angles of the triangle is __________. 

2. If the transversal is drawn to the parallel lines then their ___________ angles will be equal. 

3. If the two lines intersect each other, then _________ angles will be equal. 

4. If a side of a triangle is produced, the exterior angle so formed is equal to the sum of the two 

__________ angles. 

5. Co-interior angles are also known as __________. 

SECTION – B                             5 × 2 = 10 

6. In fig 6 lines PQ and RS intersect each other at point O. if ∠𝑃𝑂𝑅: ∠𝑅𝑂𝑄 = 5: 7, find all the angles. 

7. In fig 7, lines AB and CD intersect at O. If ∠𝐴𝑂𝐶 + ∠𝐵𝑂𝐸 = 70° and ∠𝐵𝑂𝐷 = 40°, find ∠𝐵𝑂𝐸  and 

reflex ∠𝐶𝑂𝐸. 

8. In fig. 8, ∠𝑃𝑄𝑅 = ∠𝑃𝑅𝑄, then prove that ∠𝑃𝑄𝑆 = ∠𝑃𝑅𝑇. 

9. In fig 9 , find the values of 𝑥 and 𝑦 and then show that 𝐴𝐵 ∥ 𝐶𝐷. 

10. In fig 10 if 𝐴𝐵 ∥ 𝐶𝐷, 𝐸𝐹 ⊥ 𝐶𝐷 and ∠𝐺𝐸𝐷 = 126°, find ∠𝐴𝐺𝐸, ∠𝐺𝐸𝐹, ∠𝐹𝐺𝐸.  

SECTION – C              5 ×  3 =  15 

11. In fig 11 ray OS stands on a line POQ. Ray OR and ray OT are angle bisectors of ∠𝑃𝑂𝑆 and 

∠𝑆𝑂𝑄,respectively. If ∠𝑃𝑂𝑆 = 𝑥, Find ∠𝑅𝑂𝑇. 

12. The sum of the angles of the triangle is 180°. 

13. In fig 13, if 𝐴𝐵 ∥ 𝐶𝐷, ∠𝐴𝑃𝑄 = 50° and ∠𝑃𝑅𝐷 = 127°, find 𝑥 and 𝑦. 

14. If a transversal intersects two lines, then each pair of alternate interior angles is equal. 

15. It is given that ∠𝑋𝑌𝑍 = 64° and XY is produced to the point P. draw the figure from the given 

information. If ray YQ bisects ∠𝑍𝑌𝑃, find ∠𝑋𝑌𝑄 and reflex ∠𝑄𝑌𝑃. 

SECTION – D                  5 ×  4 = 20 

16. If a transversal intersects two lines such that the bisector of a pair of corresponding angles are 

parallel, then prove that the lines are parallel. 

17. In Fig 17, OP, OQ, QR & OS are four rays. Prove that ∠𝑃𝑂𝑄 + ∠𝑄𝑂𝑅 + ∠𝑆𝑂𝑅 + ∠𝑃𝑂𝑆 = 360°. 

18. In fig 18 the sides AB and AC of ∆𝐴𝐵𝐶 are produced to points E and D respectively. If bisectors  BO 

and CO of ∠𝐶𝐵𝐸 and ∠𝐵𝐶𝐷 respectively meet at point O, then prove that ∠𝐵𝑂𝐶 = 90° −
1

2
∠𝐵𝐴𝐶. 

19. In fig 19, the side QR of ∆𝑃𝑄𝑅 is produced to a point S. if the bisectors of ∠𝑃𝑄𝑅 and ∠𝑃𝑅𝑆 meet at 

point T, then prove that ∠𝑄𝑇𝑅 =
1

2
∠𝑄𝑃𝑅. 

20. In fig 20, if 𝑃𝑄 ∥ 𝑆𝑇, ∠𝑃𝑄𝑅 = 110° and ∠𝑅𝑆𝑇 = 130°, find ∠𝑄𝑅𝑆. 
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